Mathematics 10D

Q.09 — Quadratic Word Problems
Mr. D. Hagen



Students really dislike word problems, no matter what type they are. Quadratic
word problems come with the same disdain. There are two types of word
problems: equations given and equations not given. However, no matter the
situation, once you have an equation, there are 4 things you can do:

1.
2.

You are given an x value. Plug it in and work it out.

You are asked, in some way, to find the zeros. Solve it by whichever method
Works.

You are given a y value. Plug it into the y, then bring it over to the other side,
then solve it using whichever method works.

Find the maximum or minimum. Complete the Square, or if you have the zeros,
find the axis of symmetry, then plug that into the original equation.

None of this is new! You just need to apply it the skills you have acquired over the
past few weeks!

Let’'s do 4 examples. Two with equations given, 2 without.



1. An automated hose on a tower sprays water on a forest fire. The height of the
water, h, in metres, can be modelled by the relation h = —2.25x2 + 4.5x + 6.75,
where X is the horizontal distance of the water from the hose, in metres.

a) What is the maximum height of the water?

he 2302 0 D T e o

he -D.05( X - s tl=1) €75 < 9, ”%

h-— ’QaS (y - oL 7l )4-67(*9?5' i/”(ff&

h= - Q&f()r") 7 / | [W /

b)ﬂ*tﬁj%”m@dw Ao e hen # Ak e
%(“'W\ D+ x—| 'l’l\ ‘(_d
= -q- Dg[x—-l) <7 o O

- = 4
@> He Jouey.
| &4 ,




2. A person throws a ball of a roof of a building. The relation h = —5t% + 20t + 12
models the height of the ball, in metres, and the time, in seconds.
a) What is the height of the building?
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2. Aperson throws a ball of a roof of a building. The relation h = —5t2 + 20t + 12
models the height of the ball, in metres, and the time, in seconds.
d) What is maximum height of the ball? . 4.3 \-gf
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3. The length of a rectangle is one more than two times the width. If the area
of the rectangle is 136, what are the dimensions of the rectangle?
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4. The B8P product of two consecutive numbegis 156. Find the numbers
(without guess and check!)
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